SetlpSafetyllnstructions

www.twisterdisplay.com



A B C D E F

46" 38" 38" 36" 36" 24"
(Hinged)

o o Q Q
ﬁ
o o Fitting #3
— — (Coupler)
o
o o

Fitting #1 Fitting #2 o

(4-Way) (4-Way ——
with 112" Fitting #4

Bolt) (Elbow)




1/4’

1/4”
1/4”
3/8”
3/8”
1/2”

T sddad s

II - Ij_:J r ' r

iPacling IList
Part

A Pipes

B Pipes

C Pipes

D Pipes

E Pipes (with hinge)
F Pipes

#1 Fittings

#2 Fittings

#3 Fittings

#4 Fittings

X 2 1/2” Hex Bolts e————

Flat Washers
x 3" Bolts @
Lock Nuts .
Lock Nuts

Lock Nuts @

Backboard

Electronic Scorekeeper (W/4 Sensors)
Mini-Footballs

Ball Ramp

A/C Adaptor

Wheels

Quantity

NAEBERPEvONELN LR A

=

R RO



% -.t-e.'[-!-aJ L=
_, ¢ =% %
Attach hoth D pipes to the back of the backboard with the four 1/4" hex bolts.

Put a flat washer on each bolt and insert through the front of the backboard, and then the holes in the D pipes.
Attach both C pipes to the D pipes using two 3/8" x 3" hex bolts and lock nuts.

x 3
Hex polt

3,811

2ipe

Attach pipe C to pipe D using the
3/8" x 3" hex bolt and lock nut.

Back

Attach pipe C to backboard Put the 1/4" x 2 1/2" Hex | IF

bolt through the flat washer. Put the bolt through the
.| front of the backboard, then through the pipe D and
secure with the 1/4” lock nut.

Attach pipe C to pipe D using the
3/8" x 3" hex bolt and lock nut.

I




el l o Jr g =

Assemble framework
per illustrations below.

3/8" x 3" Bolts
318" Flat Washers
& Lock Nuts




3""‘3

Test
Switch

Plug in
power
HERE

PLAY | |TEST

/
NOTE: To reset the high score, toggle the

TEST Switch to the right, then back to the
left. (The unit must be plugged in to reset
the scores.) Scores over 100 are indicated

by a dot; for example, 04.=104 points.
\

J




Loosen a coupler on either side of ramp
in order to fold game.

1 800 637 3656 ~ www.twisterdisplay.com



-a-f-.'!.i.'sJ -_J '.T'_.

A SAFETY WARNING A

Safety Instructions

Use only under adult supervision.

Do not allow anyone to climb on unit. The ball ramp and frame are not de-
signed to support a person's weight.

Do not use in rain or in wet areas.
Be sure that there is plenty of clearance between the player and spectators.

Keep spectators clear from the sides and back of canvas to prevent them from
being struck by a deflected or errant throw.

NEVER USE THE GAME IN STRONG WINDS OR LIGHTENING!!

Use caution when setting up or taking down the game. The sections of tubing
can come apart and fall down, causing injury.

Use only the balls included with the game. Do not use hard balls or other hard
objects.

A WARNING A

Do not allow anyone to climb on unit.

The ball ramp and frame are not
designed to support a person’'s weight.

Do not use in rain or in wet areas.






